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Question Number : 1 Question Id : 3354727831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Udayagiri caves is located at: | IEATRT TET T &

Options:
1. % Ujjain | 3904
= % vidisha | Tt

3. % Khajuraho | RTET
4, % Mandu | AZ

Question Number : 2 Question Id : 3354727832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who was the first Indian to be awarded the Kalinga Prize for popularizing science? | Ta= &1 sl o= & oy
IR EERT | GEATE 51 ol eIy ORE 14 #1247

Options:

1. % 5 Jha | Tqa.37

2. % Jagjit Singh | ST g
% % DS Kothari | SLOEFENT
4, % P.C Ray | W&y

Question Number : 3 Question Id : 3354727833 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which state is the Pranahita Sanctuary situated? | WEd 2R T a=a # 29T 57

Options:

1. ® Eihar | g™

= ® Mizoram | ToRE
3. # Rajasthan | ==
4. ¥ Telangana | @T=T

Question Number : 4 Question Id : 3354727834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhich vitamin prevents night blindness? [ ®1= a1 =TH= wateft &7 Ty #ear 57

Options:

1. # Vitamin D | ferida 2t
2. ¥ Vitamin & | [deii= T
= % Riboflavin | TEaFART
4. % Folic acid | ®ifew gEs

Question Number : 5 Question Id : 3354727835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where was the Indian National Army (MNa) formed in 19437 | 1943 # WIS 19 T ST (STETAT) FT 75 dgl gl 417

Options:
1. ® Burma | =H1

2 ¥ Singapore | M
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3. % Japan | SO
4. % Calcutta | Herwdr

Question Number : 6 Question Id : 3354727836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

“Anti-Terrorism Day' is celebrated on
ELLE

Options:

1.¥ 2istMay | 21 78
2. % 20th May | 20 7%
3. % 1gth May | 18 7%

4 % 2nd May | 2 HE

Question Number : 7 Question Id : 3354727837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which Constitutional amendment incorporated the Fundarmental Duties in the Constitution of India? | #= &7
HerETTF HATe W & Aicren § g Fd el @1 Ao el o7

Options:

1. % 40th | 40aT
2. % 44th | 4447
= ¥ 42nd | 4247
4. % S0th | 50T

Question Number : 8 Question Id : 3354727838 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhich of the fOllOwiﬂg 15 the latest CU.I‘I‘EHC%;%EHOITHHELHDH notes to be 1550ed by the Reserve Bank of India? |

TrATe T o & @ | a2 Tete st gy ST TR A aTe ! A w gaT O J & A ae
Options:

1. % 200 Rupee note | 300 F04 FT AR

2. % 70 Rupes note | 70 #0F HTARL

3. % 200 Rupes note | 200 #04 # 1 A

4, % 1000 Rupee note | 1000 F0F F7 A1

Question Number : 9 Question Id : 3354727839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwho is the present Chief Election Cormmissioner of India? | W ﬂﬂﬂ#ﬂﬁﬂ@ﬁﬂfﬂ? T aﬂ:r%?

Options:

1. ® Nasim Zaidi | FeW A5

2 ¢ Achal Kumar Jyoti | 2/ FAR sarfd
3. % V.5 Sampath | o9 d0a

4. # H.5 Brahma | T 0H #J50

Question Number : 10 Question Id : 3354727840 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who is considered as the political guru of Mahatrmna Gandhi? | HgleAT T 3@ T 78 & &0 § T 1 A7 57
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Options:
1. % Gopal Krishna Gokhale | TITAEST THE
2. % Pandit Madan Mohan Malaviva | Ti&d Had A5 A7
Z. % Balagangadhar Tilak | Smemmer @Gaw
4. % Lala Lajpat Rai | @TAT A0 157

Question Number : 11 Question Id : 3354727841 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘ia%*;mo are the mermbers of ‘BRICS’ surmrmit which was held recently? [ 5@ g1 H sTaiia g 'Tsierr AT & Haqd ®1-

Options:

1.p # Belgium, Fomania, India, China and Spain | Sieaad, TATHE, 97, D9 i @

2. % Bangladesh, Russia, India, Canada and Saudi Arabia | aFART, ©6, UG, TAET Y G5a) SR
= ¥ EBrazil, Russia, India, China and South Africa | Sid, ¥6, W4, D 1T Z1E0T kT

4 % Bhutan, Russia, India, Chile and Switzerland | ¥, &6, WKa, &l o gz

Question Number : 12 Question Id : 3354727842 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which [ndian scientist was awarded Vor Hippel Award 2017, the highest international prize in materials

research? | T TR T AT @1 A0 SIgET f SgaW Siatiy e [Red, O7 T2 JRed 2017 & ST R
Options:

1. CNE Rac | #1090 3X 7T

2. % Anil Kakodkar | ST @@Eme

3. % G Madhavan MNair | ST ATeET 927
4 % Kiran Kurmar | T gum

Question Number : 13 Question Id : 3354727843 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In Madhya Prac?esh, Manganese occurs in the districts of | TeEr wdar §, #m fgieias o & e Bt o o aw T 27
Options:

1. ® Morena and Rewa | TeAT Od O@r

2. ¥ Bhalghat and Chhindwara | AT 0 HeaET

2. % Durg and Baster | g1 e a¥ay

4 % Ujjain and Kalurmar | 35 Td FIAR

Question Number : 14 Question Id : 3354727844 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The ancient city which is called the 'Abandoned city'is ______ . | VI agT e "Oiveas aee weT AT e EH

Options:

1. % Morena | g7
2. % Dhar | o%

3. ¥ Mandu | AZ
4, % Rewa | TH&ET

24th Decl7 Shift 2



24th Decl17 Shift 2

Question Number : 15 Question Id : 3354727845 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

ECMOT;:;CI: 0; t\Il\llz; ?fr-:l:-?l;::?mng i a S1st district of Madhya Fradesh? | FEERET #§ & 19 |7 He@mes #7 5 1a7 Har g7
Options:

1. % Rewm | ¥ar

2 ® Morena | g7

3. ¥ Agar Malwa | ST el

4 % Dewas [ 29

Question Number : 16 Question Id : 3354727846 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who constructed the Virateshwar temple? | Terear Al frae iHT s ar?

Options:
1. ¢ Maharaj Yuvraj Dev| U Jat oo
2. % Maharaj Raj Dev| AR 6 20

3. ® Maharaj Hansraj Dev| AR 560 od
4. % Maharaj Chhatraraj Dev | FER 5309 o

Question Number : 17 Question Id : 3354727847 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In which of the following districts of Madhya Pradesh is the popular Kalika Mata termple located? | Hed AT &
Ty ot § & Toreds A et ATaT @1 Alat T a7

Options:

1. ¥ Ratlam | Y9dH

2. % Ehopal | AT

= % Singrauli | TR
4. % Guna | T

Question Number : 18 Question Id : 3354727848 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

An island and famous tourist spot in Khandwa at the Narmada river is _____ .| EEET | AHET AT U U &0 F9T
T¥Rg Teia T2

Options:

1. ¢ Hanumantiya Tapu | §a19a7 21
2. % Mortalkla | ARzgT

3. % Sethani Ghat | #&T 91¢

4. % Ram Ghat | TTH O

Question Number : 19 Question Id : 3354727849 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Patalkot in Chhindwara is the habitat of the tribes. | WeaeT H oaTeET

______ STl @ e e

Options:
1. % Gond & Bharia | T= & qie

2. % Saharia | "gieaT
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2. % Khasis & Garo | ST &7 MR
4 % Korku | =g

24th Decl17 Shift 2

Question Number : 20 Question Id : 3354727850 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Eefore Alirajpur became a district in 2008, it wasapartof _________ district. | 2008 H sl F#T 9+ & 05,
- Faret @7 U Teear am
Options:

1. ® Barwani | 9=am1
2. ¥ Jhabua | T
2. % Ratlarm | Y9
4. % Dhar | g%

Ceneral Maths and General Aptitude

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section | d:
Question Shuffling Allowed :

335472254
2

Online
Mandatory
20

20

20

Yes

No

1
335472254
Yes

Question Number : 21 Question Id : 3354727851 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

4 man walking at a speed of 4 km/h notices a train running at a speed of 24 km/h is corming towards him.
What is the length of the train if it has passed himin 1.2 minutes? [ 4 TRAT/ =T & T & e ITAT i HET FaT
% T 24 sl e T TS & Ted §U U 46 JERT SN AT G151 ¥ B wells 441 g, aie a5 39 1.2 Tiqe # o @’ g7

Options:

1. % 500m | 500 ART
2. ¥ 560 m | 560 et
3. % 500m | 600 AT
4 % 720m | 720 #et

Question Number : 22 Question Id : 3354727852 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

& basketball tearn in USA won 40 of its first 50 garmes played. How many games must it win out of the
rermaining 40 games for it to %;Er%n overall percentage of winning 60%7 | 2N o T AT Tz o TNT Ee

T werd S0 Wt 7 ° 40 7 2=t
HTTITF 57

Options:

T Fel B0% UTH & o 1o 49 40 Gt § & fora =&t #

oty Fersrelt g
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1. % 15
> % 13
z % 15
4. v 14

Question Number : 23 Question Id : 3354727853 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In the decimal representation of the fraction 7 /37, what is the 2000th decimal digit? | ™49 7 /37 % oA e
# 200087 TAAALT 3T AT 57

Options:
1. %1
z. ¥ 3
3. %9
4, % Cannot be determined | il A8 5T =T a1 81

Question Number : 24 Question Id : 3354727854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If the length and breadth of a rectangle are 15 cmand 11 o, respectively, then what is its perimeter? | It T

MTT F FAeTe 3 TISTE A 15 AT T97 11 96 8, T7 6T UATT 47 7
Options:

1.¥ 52cm | 52 9AT

2. % 26cm | 26 AT

3. % 165cm | 165 BT

4. % 36cm | 36 AT

Question Number : 25 Question Id : 3354727855 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
3.425%3 425+42%3 425¥5 EFE+5 555 5L =T

Options:
1. ¥ 64

2. ¥ 31
3. %7z
4. % 30

Question Number : 26 Question Id : 3354727856 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the average. | #Ha FF #4

25, 80, 16, 53, 26
Options:
1.9 40
Z % 50
3. % B0
4. % 70
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Question Number : 27 Question Id : 3354727857 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ram boasts of buying some things from a super market. He claims that the square of the number of thmgs he

buys is the largest three-digit perfect square. Find the number of things he bought. | Tl'FrQErT E%Q
cJ-i--;LL_, @ﬁg

GG T ST AT 31 FH ST [T T I areq et ol e ol anithet d 19 ikl 1 Ferd @21 a1l g1 39
=T T 0T S

Options:
1.9 31

2. % 30
3% 29
4 ® 28

Question Number : 28 Question Id : 3354727858 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If £1234B6 is divisible by 18, then the possible values for A+Bis___ [ AT 41234E6, 18 grT TwFa £ 91 A+B
I T weTed /e

Options:
1.¥ 2 11
2. % 2 20
3% 11,20
4 % 3 11

Question Number : 29 Question Id : 3354727859 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If 7x*— 28x* + 4x -100 is divided by x + 2. then the remainder is: / e Tx*— 282 + 4x -100 &l
x+2 ¥ fam=a WTEITE’. ar e %:

Options:

1. % 108

2. % 92

3w -9z

4 % -108

Question Number : 30 Question Id : 3354727860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If xf -6x7 + 9x* + 3x° — 18x? + 28x — 3 is divided by x — 3, then the remainderis____/ Ti¢ xf -
x5+ 9x* + 33— 182 + 28x - 3 &I x— 3 ¥ fawifog <o & ar 9use 21

Options:

1. %3

o ¥z

0%

4 ¥ 0
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Question Number : 31 Question Id : 3354727861 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The next term in the given sequence is____. | 37 7 s@ & amTaT 0g ___ )

1,4,27,16,125,36, _

Options:

1. % 49

2 ¥ 243

3. % 213

4. % MNone of the above | 590 & FI2 751

Question Number : 32 Question Id : 3354727862 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A& dealer sells two watches at Rs. 2000 each. If on one he gets a profit of 25% and on the other he incurs a loss

of 20%, then he: | U@ samml o aizat § & wedw i 2000 20 # w247 81 I UF 0T 36 25% T AT 0TH §17 5 3207 3+ 0T
FE 20% T 1T 3 74 39

Options:

1pf<~$ Suffers an overall 1055 of 6.25% | Fel 6.25% 1 g gldl 31
2. % Gets a profit of 5% | 5% T @9 TTT §4T &1

3. % Makes a profit of Rs. 10 | 10 T FT AT 5147 &1

4, ¥ Loses Es. 100 | 100 F0 &7 g1 5147 21

Question Number : 33 Question Id : 3354727863 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

& started a business with Rs. 21,000 as initial investrment. After a few months E joined with Rs. 36,000. They
share the profit equally at the end of the year. How many months after did B join A7 | A 721,000 O 3 AR
TR & | UeF ST W TR P AT WaTd 36,000 ®a4l & |91 B I aiieid gf m ay & mﬁe@%waﬁm
it # wie Tt B, A @ @ e Wy Wl Fiedied el

Options:

1. % S months | & HE

2. % SSmonths | 5.5 A
2. % & months | & HIE

4 % 7months | 7 AR

Question Number : 34 Question Id : 3354727864 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Reena left home at 8.15 a.am. o 20 t0 work, She returned home at 545 pom. What 15 the total amount of time

she was away from home? | T4 F1 0 F & S0 O 8:15 =0 W & Fad T2 a7 o Alede 9/ 5045 79 #E g e d
P T WA o Toig gF 217

Options:

1. % 9 hours 20 minutes | 9 ¥¢ 30 AT
2. % g hours 30 minutes | § ¥¢ 30 AT
3. % 7hours | 7 HE

4 # 3 hours 30 minutes [ 2 O 30 AT

Question Number : 35 Question Id : 3354727865 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0

When 30% of one nurnber is added to a second nurmber, the second number increases by one-fifth. What is the
ratio of the first number to the second nurnber? | UF H&AT & 30 % P =6 U Ga HdT ff?rl%yz‘r. AT E, T GHC T o

Options:
1. % 5
2.0% 3
=3 45
4 % 1:

[ X B L o

Question Number : 36 Question Id : 3354727866 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

If a fruit seller gains the sellinga_pric:e of 20 bananas by selling 100 bananas, then his gain is; | Ii UF & fdwar
100 %Al FT st 20 @l & Grd & siie {1 WTH BT 5, 91 SHeT T &

Options:

1. % 10%
2. % 15%
Z0% 20%
4 ¥ 25%

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 37 Question Id : 3354727867 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The diameter of a scooter wheel is 25 cm. The number of revolutions required to travel a distance of 11kmis

______ | I T o TR T AT 35 GHT Bl 11 Tt R gl e o ToT sfTereser qiek R i g
Options:
1. % 10000

2. % 11000
2% 12000
4. % 2000

Question Number : 38 Question Id : 3354727868 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
2 2 2 2
273 X 812 + 3 Pisequalto_ /273X 812+ 375 & awew B
Options:
1.%0
2 %3
3. %1

10
493

Question Number : 39 Question Id : 3354727869 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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49 1is divisibleby___. / ___ g@RT 497-1 A= §1
Options:
1. % 50
2 %51
3. % 29
4.+ 47

Question Number : 40 Question Id : 3354727870 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If (SE067E%) - x = 3458745, then x = 7 | Al (GE06789) - x = 3458745 8 qlx =7
Options:

1. ¥ 2356784

2. % 2349024

3. ¥ 2148044

4 % MNone of the above | T8 & #1E 751

Cereral Hindi

Section Id : 335472255

Section Number : 3

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472255
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354727871 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
T & AT T T e FEART Bl

Options:
1. % aof
2. ¥ g
3 % TER
4 % gt

Question Number : 42 Question Id : 3354727872 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T e degd o wal & oot el # T My g, o wged 3 -
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Options:

1. % 954
= ¥ qoan
3 % To
4. % Tt

Question Number : 43 Question Id : 3354727873 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

U Jeg AT YT & @1 alferal & g 1 8, o 9 5
Options:

1. % T

o ¥ T

3. % doan

4. % T5d

Question Number : 44 Question Id : 3354727874 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TR H U ST 2T ATAT §IETE BeAldl 5-

Options:

1. % amF
2. ¥ g
3. % Jeaw

4 % oy

Question Number : 45 Question Id : 3354727875 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

STl O BT e T QI §T a1 o gl &~
Options:

1. ¥ qed deg

2. % W =g

z. % TEOiT aeg

4 ® gofgawelt =g

Question Number : 46 Question Id : 3354727876 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
U T oA g H # wm T | ae

Options:

1. % v

= ¥ T
3. % e
4. ® &g

Question Number : 47 Question Id : 3354727877 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
24th Decl17 Shift 2
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T T T FUeRTel w1 TR AMaT o ¥ T Uw e P A e W ar gy
Options:

1.9 Fad

= ® Ay

3 % g

4 % rJUEHr

Question Number : 48 Question Id : 3354727878 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AT FTEE TReg TR A H R AT g?
Options:

1. % g+

2 ¥ SE+ET

z % THEg

4 ® Fo+gar

Question Number : 49 Question Id : 3354727879 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

"F T TR e I H A w AT g
Options:

1. ® waA

2 ® gy

3V IE
4. % 3Ty

Question Number : 50 Question Id : 3354727880 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
“ft R ST e T H W 57

Options:
1.9 sfftae
o % afgAr
z % T
4 % T

Question Number : 51 Question Id : 3354727881 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘Al deg © 799 # & T 97 A 57

Options:

1. % Joqey 9Hg
2 % e

3. ¥ FHawg A

4, ® ity gumg

Question Number : 52 Question Id : 3354727882 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0
TTEAT AT gerak #1 o Mg A e AT gy
Options:
1. % g o &g
2. ¥ Zed FAT
3. % SR ErAET
4 ® U e

Question Number : 53 Question Id : 3354727883 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Teig-T 7 g 0 M H R AR
Options:

1. % fawgmit

2. % diegar

3. o TeRiguir

4. ® Tawgmit

Question Number : 54 Question Id : 3354727884 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

“Fel B 9T T4 §IX 51 S g E § AT
e ST T T2 e Si0e ST ATl 1l
TR Py R S F AT a2y

Options:

1. % o0 TH
2 % dwm
% % g
4 & g

Question Number : 55 Question Id : 3354727885 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ﬁaﬂ?mm?ﬂ?ﬁm—qqﬁm

Options:

1. % JouyT sEa
2. % JUHT @K
3. ¥ U SEET
4, ¥ 27 AT

Question Number : 56 Question Id : 3354727886 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

IUE T deg AT - et
Options:

1. % aeqeadt

> % sifdead

= % ggegdt
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4 o THg=Ier

Question Number : 57 Question Id : 3354727887 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

g & & g A w1 gy -

Options:

1 % e T & T aregt o, TR 3 STere 0, 21 47t
o % TEY qreat T at T a2 TR 3 ST
2. ¥ TSI @ ATER OF Tgeal eal @ ol il o FieT e g
4 % Tyt ater T 2 RS aeat T 3 e

Question Number : 58 Question Id : 3354727888 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Tl FHTET % A & WA AT Sog0 (G T § | @51 SA1ET & JgI5C0 &1 9a1sm
Options:

1. % Jouey - A

2. % ST - AT

3. % g - TT-gHT

4. ¢ gty - T

Question Number : 59 Question Id : 3354727889 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
o g T A E -
Options:

1. i

o %
3. ® g
4 % g

Question Number : 60 Question Id : 3354727890 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘T T H | T T w5 3T 87

Options:
1. ® grywa a9ume
2. ¥ gy gu
3. % fmrEEE
4 % FqgET @A
Fural Economy and Panchavati Eaj
Section Id : 335472256
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
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Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472256
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354727891 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The Gram Nyavalayas Act received the assert of the President in

TR T T HTH FE
Options:

1. % 2010

= ¥ 20039

3. % 2014

4. % 2000

Question Number : 62 Question Id : 3354727892 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who administers the Gram Kosh 7 | TTH #1771 T &1 FdT 57

Options:

1. ¥ Janpad Panchavat | S99 T=Mad

2. % Secretary | HRE

2 ¥ Gram Vikas Samithi | T7F T |afiie

4, % Sarpanch | 0

Question Number : 63 Question Id : 3354727893 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ACCCII‘dng to Tendulkar Cormrmittee (2009-10), what 1s the % of Feo le liViE‘I'_ll%belDW povert line in Madhya
Fradesh? | dga®t QT (2009 - 10) & GoTler, Heg HS H TeT $@7 & <l (g 16l @1 97 % 747 8

Options:

1. % 25-20
2 % 31-35
3. ¥ 35-40
4 % 40-45

Question Number : 64 Question Id : 3354727894 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwhich among the following states is the largest producer of silk? | FEERET # T @19 A7 079 100 &7 GJ1EF T
FIT 57

Options:

1. % andhra Pradesh | STl ugar
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2. % Madhvya Pradesh | T 0qr

3. % Tamil Nadu | TE#Z

4 % Karnataka | Fic®

Question Number : 65 Question Id : 3354727895 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
UDAY Yojana’ is associated with ____. | J2F TAre=T -9 § HafeT &

Options:

1. # Panchavati Faj | t=Im= T a0

2. % Women Empowerment | ATsaAT qardh e
=, ¢ Energy Distribution | 347 Haem

4, ¥ Banking Sector | T 87

Question Number : 66 Question Id : 3354727896 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
After the 73rd Amendment, direct Fanchayat Elections were held for the first time in Madhvya Pradesh in

| 73 o T & a1, HEd e H gt a1 o Wy I AT B

Options:
1. % 1959

2. % 1965
3. % 1972
4. % 1994

Question Number : 67 Question Id : 3354727897 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Jalekia g of postmg tI'ElI'leEI‘ salaries etc. of state SoOwarTITIETLE 21Tl loyeas ol deputatmn o PElﬂChEl‘}.?EltS rests
with | TR G S T T ST, ST, S At T T U= o 6T aisar o T 21

Options:
1. ® District Collector | FwTetar

2. ¥ Respective State Government Departments | T4 ST & T
% % Zilla Panchayat | T =T
4. % Janpad Panchayat | S=0g 0=mad

Question Number : 68 Question Id : 3354727898 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What was Madhya Pradesh’s rank as in 2015-16 in production of garlic? | 2015-16 @ swal & SR T2 wad
T TR ST W I T FT 17

Options:
1.9 13t | Ugd

2. % 2nd | gE0T
= % 3rd AT

4 ® ath j =i

Question Number : 69 Question Id : 3354727899 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0
In which year was Food Corporation of India set up? | g HHCSH 76 TISAT ({16 Grey Fw) o € e o g8
#t?

Options:
1. % 1947

2. % 1950
3% 14955
4. ¥ 1985

Question Number : 70 Question Id : 3354727900 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

In which of the following Indian states Panchavati raj system does not exist ? | FaiaET awdg =t § 9 frad
T T {1 WOTTT A el %’7

Options:

1. % Gog | TET

Z. % Aszzam | aEH

= ¢ Nagaland | ATTRE
4 % Kerala | owe

Question Number : 71 Question Id : 3354727901 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In which of the following years were Regional Fural Banks first set up in India ? | FaieEs & & g af awa &
W 7 E s T B R S 7

Options:

1.9 1975
2. % 1983
2% 1999

4, % 2005

Question Number : 72 Question Id : 3354727902 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the additional amount released as assistance for construction of tE}ﬂEt in a household LlI'lC?EI‘ Pradhan
Mantri Awaas Yojana-Grarmin, as part of Swachh Bharat Mission? | W= 5T ST JET-TTHI & 29779, TRF
AT Tiae & AT & ®7 8 w2l § si=re & TAi & o et 7 S aret Siid e i & e e 87

Options:

1. % Es 7000/- 7000 &7

2. % Rs 10000[- 10000 &7
3. % Es. 12000(- 12000 &7
4 % Rs 15000[- 15000 &7

Question Number : 73 Question Id : 3354727903 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What 15 the percenta e of people living in rural areas in India, according to the 201 1Census? | 2011 & F=m0=T
W ST, W | TTHIT &1 § T STet @ T Wi S T e

Options:
1. % 25%
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= % 3oy
3 v 58%
4 ® 5Ex

Question Number : 74 Question Id : 3354727904 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In terms of the size of population, India ranks

in the world. | S99EaT & S & g2 § 9 &7 e o

Options:
1. ® Fourth | =i

2 % Sevyenth | IaT
= % First | Ugal
4. % Second | 3@

Question Number : 75 Question Id : 3354727905 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where are jobs in the primary sector found? | WHF &3 § Fi@ia] F51 HoAdT a7

Options:

1. ¥ Metropolitan cities | AgOToeT 5T
2. ® Towns | A%

3. % Cities | a7

4. ¥ Rural areas | TTHIT &3

Question Number : 76 Question Id : 3354727906 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Il most developing countries, the maxirmurmn number of eople ermnployed 15 in the

Tt 2ot §, arrereran wear | At 7 | T T2m =T 2
Options:
1. % Primary | WrIiHe

2. % Secondary | EdmE

= % Tertiary | gaA®
4. % MNone of the above | IWE H & T2 T30

sector. | aTTEEaT

Question Number : 77 Question Id : 3354727907 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which statement is NOT correct about forests? [ o=t & st # FaiaiEs § & #19 a1 7em w0 751 7

Options:

1. ® They protect the soil Against erosion | o SRS & g GaT &1 Gigd #id 8l
2. % They protect bio diversity | o S TaferemT &7 Ta7 @ 51

3. ¥ They promote poultry | & Fge A &1 S5 TdT o 8l

4. % They supply timber and fuel wood | o FTF T SuF & AwaT & AT Fed 2l

Question Number : 78 Question Id : 3354727908 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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which is the target year for 100% village electrification? | 100% 1T T 90 & 7T /e anf 1 &7 87
Options:

1. ® 2022

2 % 2020

3. % 2013

4. % 2018

Question Number : 79 Question Id : 3354727909 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwhich state won the award for using IO —-Conyentional COHStI‘LlCItiOI'l materials for I"QEldS under Prirme Minister
Gram Sadak Yojana 2018-17 7 | 7d Tea 3 e 2016-17 H Wel Hafl UTH W2 A1 o ST g o i & ol
SRR THAT—THUT & SUT 3 6 qRed Aidr?

Options:

1. % Madhya Pradesh | T ncar
2. ® Rajasthan | =

3. ® Kerala | od

4. % Andhra Pradesh | STl g

Question Number : 80 Question Id : 3354727910 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

%%1 is the authority to notify the wards in a Grarm Panchayat ? | U U ® T121 @1 SITERTT F &1 STEwr

Options:

1. % State Election COMumission | ¥4 fare ST
2 % District Collector | FwTetar

% % Panchavati Raj Ministry | U=lmad ! I A9

4. ¢ Tehsildar | TgEASK

Cormputer Knowledge

Section Id : 335472257

Section Number : 5

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472257
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354727911 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Ev default, documents saved in Word 2007 are saved with the extension: | i2%Tre ®7 &, g2 2007 ¥ &7 o My
ZTFgHe, TF Taraca & Ty 9 B mr §

Options:

1. ¥ docx
2. % pptu
3 % ylsx

4 % jpeg

Question Number : 82 Question Id : 3354727912 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The basic unit of Excel where we enter data is called_____ .| TFEH H I s6w GiT, JET EH S1ET WitE #d &,
TR Bl

Options:
1. % Box | 919
2. % Table | Tad

3 ¥ Index | 2299
4 & Call | 1T

Question Number : 83 Question Id : 3354727913 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Operating system is an exarnple of: | ST TEHTH SR IZE &
Options:

1. % application software | U1 STFR

2 ¥ Systern software | FeEH AFaT

3. % Cornrmunication software | wH I AT

4 % Storage device | HENS 1Za5d

Question Number : 84 Question Id : 3354727914 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ISP stands for: | STEUHUT ®1 90f &0 &

Options:

1.IO # Internet Systern Programuring | §ei-c eed TmmET
2. ¥ Internet Service Frovider | E2%-2 Wiad HIEE¢

3. % Internet Systern Flan | Sede [EHeH 0o

4. % Internet Session Programuming | Sete S TmHT

Question Number : 85 Question Id : 3354727915 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
To create a copy of files in the event of systemn failure, you create a

T I =T o T, TR FLAT BT
Options:

1. ® restore file | WA ®1EA

2. ¥ backup | dwam

3. % firewall | BToRdT

4. % redundancy| TE==-dl
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Question Number : 86 Question Id : 3354727916 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following can be used for creating basic images? | 7= # & e sy Siéw ga= & i & T
oY T HFAT 27

Options:

1. ¥ Adobe PDF Reader | US o TS I0E T2

2. ¥ M5 Paint | TATE T

3. % Notepad | ARUE

4. % windows Media Player | ek fitzar qa=w

Question Number : 87 Question Id : 3354727917 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Pre—defi%ed and built-in forrmulas in Excel are knowrn as: | TFad | qd- i 7o See-3=7 S & ST o s g
~ATAT TG .

Options:

1. % puto-sheets | afiei-4iT
2. % Diagrams | STI0TH

3. % Charts | @¢

4 ¥ Functions | Hgs

Question Number : 88 Question Id : 3354727918 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which one of the following tools will Sugig_est other words with a sirlar meaning to the selected word in M5

Word 20077 | TATT @2 2007 § Zi-d o 1o e |AT el ST ST AeE W SR F ST T H H W AT T

Options:

1. ¢ Thesaurus | B
2 ® Citation | dgead
3. % Caption | Fqae

4 % Glossary | TEATEr

Question Number : 89 Question Id : 3354727919 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
& cornputer on internet are identified by: | Sede I U FHILET WA & &RT U5 14T &

Options:

1. # E-mgil address | £-Ad 129

2 % [nternet Protocol Address ) éd(rld FIAEAR =
% % Link Address | o u2d

4. # Internet Address | Sotdz U2d

Question Number : 90 Question Id : 3354727920 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where are data and prograrmme stored when the processor uses therm? | STel WTEEE ET2T U WHTH T ST HeaT &,
el o FET HERER §7
Options:
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1. ¢ Main mermory | T5T HART
2. % Secondary memory | HEELl HATT
3. % Disk mermory | T29% BART
4, % Prograrmime memory | T §AT

Question Number : 91 Question Id : 3354727921 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
How many ways you can save a docurmnent? | &7 Ua SIpgHe & ha- TR § e 9 a%d 27

Options:
1.¥3
2 % 4
3. %5
4 % g

Question Number : 92 Question Id : 3354727922 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
How does ruler help in MS Word? | UH0H 92 H, A7 [aH 95 51a1 87

Options:

1. % Settabs only | Wb o ar e o

2 % Setindents only | B s2qr e #

% % Change page margins only | T i AT aga- #
4 ¥ all of the above | gy G &

Question Number : 93 Question Id : 3354727923 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The unprocessed raw facts, figures, numbers or images are called _____ . em'ﬂTﬁTcrﬂEﬁ T al arcm , GJW'I:EMT
AT AT T W%

Options:

1. ® Program | WA

2. % Data | ZET

3. ¥ Instruction | SEEHER (3Z6
4. % Process | Wiwam

Question Number : 94 Question Id : 3354727924 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In M3 Word, the process of making changes to an existing document is referred to as: | THUE 92 H, U A
ZTggyT | Uiad T - & uigar @1 T & § g o S

Options:

1. ¢ Editing | oizRw
2. % Tracking | ¥
Z. % Proofing | g
4. % Creating | fFofem

Question Number : 95 Question Id : 3354727925 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0

ANSI stands for: | QUAUHETS F Q0 #7 &

Options:

1. ¢ American National Standards Institute | SMANET S99 §i2sd sHC T
2 % Alien MNational Standard Institute | UTETUS 9997 9222 SEeIelT

3. % Armerican National Stand Institute | sTHES S997 928 S8 e

4 % african National Standards Institute | Sihiw 9990 o5 d 260 IS0

Question Number : 96 Question Id : 3354727926 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Yo can copy cell formats from one cell to another by usingthe ________ irn MS Excel. | UHTE Tgds # o0
__________ BT JULNT Flck Hel BIHCH 1 U el F FHL S § R FE Gofd 5]

Options:

1. % Backspace Key | o@qua gl
2 % Default font | EHTHEE B
=. ¢ Format painter | A H2¢

4 % Forratting toolbar | STHRIT Toe

Question Number : 97 Question Id : 3354727927 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Collecting the data and converting it into information is called ______ .| ZTET HUEIT AT ST 56 GT § ® T
FAT e FEATAT 7]
Options:

1. % Data Processing | STeT HTEET

2 % Data Compiling | ST &I HET
3. % Data lmporting | ST gAUMCT
4 % Data Exporting | ST TEadiie

Question Number : 98 Question Id : 3354727928 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
CPU is also knowr as: | S0 w1 6 7 & 6 =1 a7 8

Options:
1. ¥ Decode | e

2 % Execute | UMgT
3. ® Micro chip | ATE®! =T

4. ¥ Microprocessor | ATSHHEET

Question Number : 99 Question Id : 3354727929 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of%ghe following search engine is developed by Microsoft? | oA § & %19 61 & 594 AGE AT ZRT Towed
T T

Options:
1. ® Google | 7T
2. ¥ EBing | &

2. % Yahoo | 4Tg
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4 % Alta Vista | Ueel foHeT

Question Number : 100 Question Id : 3354727930 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is NOT a domain name? | o 8 8§07 0 S %1 A0 151 27

Options:
1. ¥ com
2 % gov
3. v jpg
4. % in
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